VISAKHAPATNAM SPECIAL ECONOMIC ZONE VISAKHAPATNAM, AP

QUOTATION

FOR

RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.

NOTICE INVITING QUOTATION NO: 9/\	/SEZA-CIVIL/241/Lotus bldg/2024/	date.19.02.2024
Date & Time of closing of tender box Date & Time of opening of Quotations	: 28 -02-2024 a : 28 -02-2024 a	
	Secre VSEZ, VISAKHA	-
Name of Bidder: M/s		
Quotation Serial No D	ated:	

VISAKHAPATNAM SPECIAL ECONOMIC ZONE

Name of work: RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.

Tender Notice No: 9/VSEZA-CIVIL/241/Lotus bldg/2024/ dated: 19 -02-2024

TOP SHEET

SL.NO	Name of work	Estimated value (Rs)	Percentage(%) to be quoted by the bidder(s) above(+)/below (-)/At par on the estimated value	Amount (Rs)	Total value (Rs)
1	Name of work: RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.	2,49,975/-			

NOTE :

- 1) The bidder has to quote one uniform percentage above (+) / below(-)/ at par on the estimated basic value in the above column
- 2) The rate quoted above should be inclusive of all taxes
- 3) After completion of all works, the debris at site will have to be cleared by the contractor at his own cost.

Signature of the bidder(s)

VISAKHAPATNAM SPECIAL ECONOMIC ZONE

VISAKHAPATNAM

NAME OF WORK: RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.

ABSTRACT

	<u> ABSTITUTE</u>				
S.NO	DESCRIPTION OF ITEM	UNIT	QTY	RATE	AMOUNT
1	Providing and fixing Ist quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades of any size as approved by Engineer-in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement : 3 coarse sand) and jointing with grey cement slurry @ 3.3kg per sqm, including pointing in white cement mixed with pigment of matching shade complete. (for toilets at Lotus bldg)	Sqm	59.00	1074.50	63395.50
2	Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer) of 1st quality conforming to IS: 15622 of approved make in any colours, laid on 20 mm thick cement mortar 1:4 (1 Cement: 4 Coarse sand), Jointing with grey cement slurry @ 3.3 kg/sqm including pointing the joints with white cement and matching pigment etc., complete. (for Lotus bldg)	Sqm	15.00	929.25	13938.75
3	Wall painting with acrylic emulsion paint, having VOC (Volatile Organic Compound) content less than 50 grams/ litre, of approved brand and manufacture, including applying additional coats wherever required, to achieve even shade and colour. (Two coats) - Lotus bldg)	Sqm	1175.00	116.45	136828.75
4	Providing and fixing P.V.C. low level flushing cistern with manually controlled device (handle lever)conforming to IS: 7231, with all fittings and fixtures complete.10 litre capacity - White	each	2.00	1009.00	2018.00
5	Providing and fixing white vitreous china pedestal type (European type/wash down type) water closet pan	each	2.00	2360.10	4720.20
6	Providing and fixing solid plastic seat with lid for pedestal type W.C. pan complete. White solid plastic seat with lid	each	2.00	580.35	1160.70
7	Supply and fixing of waste coupling	each	2.00	103.00	206.00
8	Providing and fixing ball valve (brass) of approved quality, High or low pressure, with plastic floats(25 mm nominal bore)	each	1.00	399.15	399.15

9	Providing and fixing 600x450 mm beveled edge mirror of superior glass (of approved quality) complete with 6 mm thick hard board ground fixed to wooden cleats with C.P. brass screws and washers complete.	each	2.00	1362.65	2725.30
10	Providing and fixing white vitreous china flat back or wall corner type lipped front urinal basin of 430x260x350 mm or 340x410x265 mm sizes respectively	each	6.00	1397.40	8384.40
11	Supply and fixing NP soap dish heavy type with NP Screws	each	2.00	245.00	490.00
12	Providing and fixing C.P. brass long body bib cock - 15 mm nominal bore	each	2.00	677.05	1354.10
13	Providing and fixing C.P. brass stop cock (concealed) - 15 mm nominal bore	each	2.00	568.15	1136.30
14	providing wash basin with single cp brass pillar cock	each	2.00	1592.50	3185.00
15	Providing and fixing of 15mm dia CP Brass angle valve	each	8.00	500.35	4002.80
16	Supply & fixing towel rod (CP) of 24" long and 3/4" dia	each	2.00	378.00	756.00
17	S/F Angle stop cock -two way tap	each	2.00	502.00	1004.00
18	Providing and fixing Health faucet	each	2.00	350.00	700.00
19	Providing and fixing unplasticised PVC connection pipe	each	8.00	82.80	662.40
20	Providing and fixing 32 mm dia flexible P.V.C. waste pipes for wash basin	each	4.00	101.30	405.20
21	Providing and fixing of 100 mm dia steel jolly	each	8.00	35.00	280.00
22	Providing and fixing 20mm dia CPVC pipe (concealed)	RM	3.00	455.60	1366.80
23	Rockbolt for wash basin	set	2.00	115.00	230.00
24	Poviding and fixing shower	each	2.00	313.00	626.00
	TOTAL ESTIMATED VALUE				249975.35

VISAKHAPATNAM SPECIAL ECONOMIC ZONE, VISAKHAPATNAM

No. 9/VSEZA-CIVIL/241/Lotus bldg/2024/ Date: 19.02.2024

NOTICE INVITING QUOTATIONS

The Development Commissioner, VSEZ, Visakhapatnam invites sealed Quotations from the approved & eligible agencies.

SI. No.	Name of work	Estimate amount (Rs)	Time of completion	Documents Download/ Bid Submission		Date & Time of opening of Quotations
				Start Date	End Date	
1	RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.	Rs.2,49,975/-	One month	21.02.2024 at 15.00 Hrs	28.02.2024 at 15.00 Hrs	opening on 28.02.2024 at 15.30 Hrs

Tender documents can be downloaded from website of VSEZ (www.vsez.gov.in).

Page 5 of 10

<u>Eligibility criteria</u>: contractors, who fulfill the following requirements, shall be considered as eligible bidder:

Agencies should have satisfactorily completed the works as mentioned below during the last 05 (five) years ending last day of January-2024

i) 01 (one) similar work of civil repairs each costing not less than 80 % of estimated cost executed under Central/State Govt.Dept./Central/State Autonomous Body/Central/State Public sector Undertaking.

Similar work shall mean: Repair works of Civil Engineering. The value of executed works shall be brought to current costing level by enhancing the actual value of work at simple rate of 6% per annum calculated from the date of completion to last date of applications for tenders.

Completion certificate issued by competent authority will only be considered as credential. If the Completion certificate issued by competent authority does not reflect the type of work, then final bill/Schedule of Quantity of the qualifying works also to be attached along with the completion certificate. Certified from private individuals/Organizations for whom such works have been executed shall not be accepted.

Quotation should be submitted in the format obtained from VSEZ within the specified date and time in the Office of DC, VSEZ, Duvvada, Visakhapatnam, and failing to do so, the offer shall be summarily rejected. **Bid Validity period is 90 days** from submission of Bid. Bid will be opened on the above mentioned date and time. **The VSEZ office reserves the right to reject any quotation without assigning any reason thereof.**

DEVELOPMENT COMMISSIONER VSEZA

VISAKHAPATNAM SPECIAL ECONOMIC ZONE, VISAKHAPATNAM

Name of work: RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT

VSEZ MAIN GATE.

No. 9/VSEZA-CIVIL/241/LOTUS BLDG/2024/ Date: 19.02.2024

INSTRUCTIONS TO THE BIDDER

1. The time for completion of work **is 01(one) Month** & will be reckoned from the date of issue of work order or handing over of site, whichever is earlier.

- **2.** All Rates, Prices, Amounts and Sums quoted by the bidder shall be in Indian currency only. The Language used throughout shall be English.
- 3. The bidder has to quote one uniform percentage above/ below the estimated basic amount on the top sheet of financial Bid. All Rates, Amounts, and Sums shall have to be quoted in eligible and written both in figures & words. If the rate quoted in words does not tally with the rate quoted in figures then the rate which corresponds to the amount shall be considered
- 4. Any over writing / correction / applying correction fluid shall be avoided and in case any Correction is made the same must be initialized and stamped.
- 5. Quotation must be submitted with the percentage rate for total value of work involved and any Incomplete quotation will not be considered. The items for which the rates are not quoted will be Considered as "Zero" & the agency shall complete that item of work without any claim.
- **6.** No alteration shall be made by the bidder in the quotation & no conditional quotation will be entertained. Quotation with split rate will not be considered.
- **7.** The Bidder shall have to submit copies of valid PAN, Income tax, GST, Aadhar Card other statutory tax clearance certificate along with the quotation. The original copies of these certificates will have to be produced when demanded for verification.
- **8.** The sealed Quotations shall be received by the DC's Office, VSEZ not later than the time and date stipulated in the Notice Inviting quotation or Corrigenda otherwise. Quotations that are received after the date and time specified will not be considered.
- 9. The VSEZ reserves the right to accept or reject any or all the offer including the lowest without assigning any reason. The VSEZ does not bind itself to accept the lowest offer.

ADDITIONAL CONDITIONS OF CONTRACT

Name of work: **RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.**

No: 9/VSEZA-CIVIL/241/ LOTUS BLDG /2024/ Date: 19.02.2024

The quantities indicated are approximate and may vary at the time of execution. The zone will exercise absolute discretion for operating all or some items of the schedule.

- 1. Contractor has to remove all the debris from the site of execution and dispose them at suitable places outside VSEZ at the places earmarked by GVMC.
- 2. Cement used for the work should not be older than two months from the date of manufacture. The Contractor should purchase the cement from authorized dealer and submit the test certificate / vouchers prior to execution of the work.
- 3. All temporary arrangements, Staging, working platforms etc., is to be provided by the bidder at his own expense to the satisfaction of the Engineer- in –Charge. The VSEZ will not however, be liable to pay any compensation due to accident, injury to the contractor's work men or any account what so ever.
- 4. Steel to be supplied & used should be from approved manufacturers. Steel from manufacturers other approved make / re-rolled steel will not be acceptable. The consumption of steel will be regulated as per bar bending schedule and drawing to the contractor and / or as directed by the Engineer-in-Charge. Payment of reinforcement rods, will be made as per actual use including overlaps, crank, bending etc., as needed at work site, if any as per approved drawing. Quantity will be calculated using standard weight per running metre. No wastage on any account is payable. Test certificate of steel should be submitted by the contractor. The contractor must submit vouchers for the steel purchased to the Engineer. All reinforcement used should be free from loose mill scale, loose rust, paint and oil coating etc.,
- 5. All concrete works shall be machine mixed and machine vibrated & will have required levels of strength at the time of testing. Poorly executed concrete have to be demolished and repair will not be allowed.
- 6. The VSEZ will be at liberty to take samples during the course execution of work. The cost of sample and the charges for the testing will have to be borne by the contractor.
- 7. **Defect liability period:** The defect liability period shall be 6 (six) months from the certified date of completion of work.
- 8. The job is to be done as per CPWD/APSSR/VMRDA building & sanitary works specification for building/ Civil works and CPWD/APSSR/VMRDA roads specification for road works, as applicable and provisions made in relevant IS codes must be followed. Wherever these are silent, the construction and completion of works shall to sound Engineering practice as approved by the Engineer- in —Charge. In case of any dispute arises out of the interpretation of the above, the decision of the Engineer- in —Charge shall be final & binding to the contractor.

- 9. The bituminous road work shall be carried out by using bitumen of grade VG30 preferably from IOCL, wherever applicable.
- 10. Roof treatment work/ Water proofing treatment work should be guaranteed by the contractor for 10 years after successful completion of work, wherever applicable.
- 11. The splashes of paints over door, windows and floor shall be cleaned thoroughly after execution of the work.
- 12. Irrespective of rates quoted by the bidder, the contractor shall be solely responsible for payment of minimum wages as stipulated by the Government from time to time, further no minors shall be engaged in the above works.
- 13. For painting works, volume of paint to be used is to be procured & stored at site during starting of work to avoid mismatch of shade. And challan/ Tax Invoice of procured paint, certified by the Manufacturers, should be submitted to the department. Sampling of paint to be done in presence of the manufacturer's representative and the quality of application to be certified by the manufacturer and the same to be submitted to the department.
- 14. Due to COVID-19 pandemic, the contractor should follow the standard operating procedures prescribed by Ministry of Health & Family Welfare, in the interest of Health of workers engaged.

SCOPE OF WORK & TECHNICAL SPECIFICATIONS

NAME OF WORK: RENOVATION OF TOILETS AND REPAINTING WORKS FOR LOTUS BUILDING AT VSEZ MAIN GATE.

No: 9/VSEZA-CIVIL/241/ LOTUS BLDG /2024/ Date: 19.02.2024

APPROVED MAKE LIST OF MATERIALS TO BE USED WHEREVER APPLICABLE

SL.NO	ITEMS	Suggested brand name or similar (approved by the authority)
1	Cement (43 grade OPC)	JP Cement, Ultra Tech, Ramco
2	Reinforcement Steel	RINL/ SAIL/TATA
3	Ceramic Tiles	Johnson/Kajaria/Somany/Bell
4	GI Pipes /Fittings	Jindal/TATA
5	Anodized Aluminium fittings	Crown and ISI Marked
6	Synthetic Enamel paints/Primer	ICI Dulux / Asian / Berger / Nelolac
7	Distemper / Primer	ICI Dulux / Asian / Berger / Nelolac
8	Anti corrosive water proofing paint with aluminium finish	STP Super Silver Shield of Equivalent
9	Extruded Aluminium Section for doors, Windows, Partitions etc.,	HINDALCO / JINDAL or Equivalent